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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
INTRODUCTORY BIOLOGY
(BIO-111)

Time : 2 Hours

Section-1 :10

Maximum Marks : 70
Section—1II: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions .
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
aug - |
Time : 20 Minutes] ‘ [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square

given against each sub-question. (10x0.5=5)

HEl IW I G SHR WA | AW 2 A 3 A 4 YF I-WA & G 22 R i § fafan)

()  The nucleus of the cell was discovered by : [:I
(1) De Barry

(2) Robert Brown
(3) Strasburger
(4) Boveri.

FIH ¥ FF @S w W oFf .
(1) & 37 g

2) T2 7T 3@

(3) wWEER gF

(4) &G gr

(i)  System of classification proposed by Linnaeus is : D

(1) Natural

(2) Artificial

(3) Phylogenetic
(4) Numerical.

S g & T e gy €
(1) wpfes
2) Ftm
3) e
4) wEATHS
(iii) A dicot plant leaf showing parallel venation in :
(1) Mango
(2) Wheat
(3) Castor
(4) Pipal.
fodte ot W # odit guEeR frfre <o @
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J (iv) Placentation in pea is : E
(1) Parietal
i (2) Marginal
, (3) Axile
(4) Basal.
7R ¥ TgIN O
(1) fasdig
(2) dmra
(3) ity
4) S|

(v) Epigeal germination is occurs in : D
(1) Pea
(2) Castor
(3) Maize
(4) Coconut.
SuRwfe o e § -
(1) #=XH
(2 oSt H
(3) wEE H
4) =fEs H)

(vi) The fruit of maize grain is : D
(1) Legume
(2) Achene
(3) Cypsella
(4) Caryopsis.
W P G B TER T
(1)
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(3) faen
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(vii) Potato is : :l
(1) Stem
(2) Root
(3) Leaf
(4) Fruit.

(viii) Plasma Membrane is made up of : D
(1) Celulose
(2) Lipid
(3) Protein
(4) Protein and Lipid.
e foedt o g A g
(1) g
@) fafes =t
(3) WA &
@) Wem 3 fafve F:n

(ix) Winged petiole found in :
(1) Citrus
(2) Fegonica
(3) Hibiscus
(4) Cotton.
YEER g T o
() g H
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(3) TEEw o
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In a cell mostly DNA replication occurs during : D
(1) M phase

(2) G, phase

(3) S phase

(4) G, phase.

HifvE § AT F i SR

(1) ™ IueEean | ot @

2) f IverEen ¥ o @

(3) W oA H wt #

(4) h, FeEEen ¥ wt B

2. Fill in the blanks : (10x0.5=5)
faa ol #1 ofd Fifsm .

(@)

(ii)

(iii)

(iv)

The plants on which male and female floweres are born on the same but different
JOCRUIOR OF DI 15 SR ceassiteienirssisissisisissoscassassssasssassonroves
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D T TS WH FOAR T ooooooooecrreeeseesssessssssmsnsssssssssmsasnees
(vi) - Steomn is o0 Sl SUIVCHIEE OF ...ccccoonciinnicnciccccrescacsessrsosses
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AL .o fafifa s 2
(viii) Plasmodesmata are found i ...........ccciccciiiinneinnenisiesnsesnssnnes
L R A ¥ 3 W@ %
(ix) Five kingdom classification given DY .........ovmniinnnisnnninnens
A R — % g R mam
BT el otlss st ssssvitiinins is the outermost layer of seed.
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
INTRODUCTORY BIOLOGY
(BIO-111)

SECTION - II
g - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
forwareTs o (W W@ 3,4, 5,6 W@ 7) ® IW f T Iw-gfww # frad §1 sw-gfaw
et 3R WA-U9 QU W # 9% vEaEs g Femger & ot sma

foares WM 1 W7 Thenef s T @ o1 weE ¥

3. Define the following : (5x1=5)
frafafaa #t wfonfye Fifsg

(i) Parenchyma.

b EGE

(ii) Actinomorphic.

Pz

(iii) Acquired variation.

It fafiy=am)
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(iv) Endosperm.

JoTarS|

(v) Binomial nomeclature.

e Tl

4. Differentiate the following : (2x3.5=7)
frefefag | =R FIOT ¢

(i) Lamarckism and Darwinism.

AqrRaR qu SfEaER|

(ii) Prokaryotic cell and Eukaryotic cell.
SefefE SR @ s wivE

5. Write short notes/comment/justify the following : (2x6=12)
Pt =t Haw o feoof/av/men FIAC :

(i) Hypogeal germination.

AeimfaeE SR

(i) Nucleous.

Excl

6. Explain any two of the following three questions in 1-1%2 pages. (2x8=16)
e @ v @ fRE & B IW 1-1% Wi #

(i) What do you understand by placentation? Explain various types of placentation
diagrametically with suitable examples.

Mﬁwmt?faﬁﬂmﬁaﬁmaﬁmmm|
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(i) Give flower description of wheat plant with flower diagram and flower formula.

W % 9N gW W Al g @en T g9 gW s

(iii) Write the function of stem and explain the types of errect stem.
T F w7 o g WY W P v S = w5t

7. Explain/describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frafafea @ ot & & el Ot & 3W 23 ¥ § T

(i) Explain meiosic cell division I with diagram. Also mention significance of meiosis.

it Fifve frarem yom B afe Tugmd snigh Fifve fiwem w1 wee w5 ot
I wife

(i) Draw a well labelled ultra-structure of Mitochondria and describe its functions.

CEHEH & T W& F AR Y e aw wme w5 v

(iii) Define root? Explain the modification of tap root with suitable diagramme and example.
g H IR FEC THE T B EG0 B IO e gHEmE)
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